			Co	omputer De	pt					
Ms.V.L.Bors	se (Gene	eral)				`	Total Stu	ident = 07		
	Below	Average		verage	(	Good	Ver	y Good	Ex	cellent
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	-	-	-	-	-	-	04	57.14	03	42.82
Class Control	-	-	-	-	01	14.28	02	28.57	04	57.14
Regularity and punctuality to	_	_	_	_	_	_	03	42.82	04	57.14
lectures / Practicals							0.5	72.02	04	37.14
Skill in explaining Difficult	_	_	_	_			02	28.57	05	71.42
Points							02	20.37	0.5	71.12
	T	1 1	Ms.V.	L.Borse(Su	bject)	T	T	T	T -	T ==-:
Command Over Subject	-	-	-	-	-	-	01	14.28	06	85.71
Usage of Case studies, current	_	_	_	_	_	_	04	57.14	03	42.82
events in Lectures									1	1
Resolving students'	_	_	_	_	_	_	05	71.42	02	28.57
doubts/questions									-	
Motivating Students to develop							0.4	57.14	0.2	12.02
further interest in subject/	-	-	-	-	-	-	04	57.14	03	42.82
higher studies. Usage of interactive teaching										
method(Seminars, Tutorials				_	01	14.28	02	28.57	04	57.14
Ouiz, Etc.)	-	-	-	-	01	14.20	02	20.37	04	37.14
Frequency of giving references										
and further reading	-	-	-	-	-	-	03	42.82	04	57.14
Training and preparing students										
for examination	-	-	-	-	-	-	04	57.14	03	42.82
		1	Ms.V.	L.Borse(Att	itude)		I			·
Attitude Towards Students,							0.5	71.40	02	20.55
friendly and Encouraging	-	-	-	-	-	-	05	71.42	02	28.57
<b>Usefulness in Student counselling</b>							02	20.57	0.5	71.40
: Personal/Career	-	-	-	-	-	-	02	28.57	05	71.42
Skills in motivating Students for							04	57.14	03	42.82
extra -curricular activities	-	_		-		-	U4	37.14	03	42.82
Teacher's participation in	_	_	_	_	02	28.57	02	28.57	03	42.82
					02	20.57	02	20.57	0.5	12.02

extracurricular Activities										
<b>Use of ICT Tools for teaching</b>	-	-	-	-	01	14.28	01	14.28	05	71.42
<b>Use Of Google Class</b>	-	-	-	-	-	-	03	42.82	04	57.14
Overall Impression as a Teacher	-	ı	-	-	-	-	03	42.82	04	57.14
Overall Impression as a Person	-	ı	_	_	-	_	01	14.28	06	85.71

**Discussion of finding: -** In **general regarding** the computer department response obtained from 7 students of the college about Miss V. L Borse said that her command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

Miss V. L Borse **expertise in the subject**, the responses received from 7 students revealed that, her command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

Miss V. L Borse attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of Miss V L Borse is very good.

			Political	Science De	ept.					
Dr.A.P.Khose (	Genera	<u>l</u> )				To	tal Stude	nt = 16		
	Below	Average		rage		ood	Very	Good		ellent
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	-	-	-	-	06	37.50	06	37.50	04	25.00
Class Control	-	-	-	-	02	12.50	11	68.75	03	18.75
Regularity and punctuality to lectures / Practicals	-	-	-	-	04	25.00	06	37.50	06	37.50
Skill in explaining Difficult Points	-	-	-	-	01	6.25	10	62.50	05	31.25
			Dr.A.P.K	hose (Subj	ject)					
Command Over Subject	-	-	-		04	25.00	07	43.75	05	31.25
Usage of Case studies, current events in Lectures	-	-	-	-	02	12.50	09	56.25	05	31.25
Resolving students' doubts/questions	-	-	-	-	01	6.25	10	62.50	05	31.25
Motivating Students to develop further interest in subject/ higher studies.	-	-	-	-	02	12.50	09	56.25	05	31.25
Usage of interactive teaching method(Seminars,Tutorials Quiz, Etc.)	-	-	1	-	02	12.50	06	37.50	08	50.00
Frequency of giving references and further reading	-	-	-	-	02	12.50	07	43.75	07	43.75
Training and preparing students for examination	-	-	-	-	03	18.75	07	43.75	06	37.50
			Dr.A.P.K	hose(Attit	ude)					
Attitude Towards Students, friendly and Encouraging	-	-	-	-	04	25.00	08	50.00	04	25.00
Usefulness in Student counselling : Personal/Career	-	-	-	-	02	12.50	07	43.75	07	43.75
Skills in motivating Students for extra -curricular activities	-	-	-	-	04	25.00	06	37.50	06	37.50
Teacher's participation in extra curricular Activities	-	-	-	-	02	12.50	08	50.00	06	37.50

<b>Use of ICT Tools for teaching</b>	-	-	-	-	03	18.75	08	50.00	05	31.25
Use of Google Class	-	-	-	-	03	18.75	08	50.00	05	31.25
Overall Impression as a Teacher	-	-	-	-	-	-	09	56.25	07	43.75
Overall Impression as a Person	-	-	-	-	01	6.25	04	25.00	11	68.75

**Discussion of finding:** - In **general regarding** the **Political Science department** response obtained from 16 students of the college about **Dr.A.P.Khose** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr.A.P.Khose expertise in the subject**, the responses received from 16 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr.A.P.Khose** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr.A.P.Khose** is very good.

			Educa	tion Dept	•					
Dr.R.G.Saner(	Genera	<u>l)</u>				To	tal Stude	nt = 39		
	Below	Average	Aver	rage	G	ood	Very	Good	Exc	ellent
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	01	2.56	-	-	07	17.94	20	51.28	11	28.20
Class Control	01	2.56	-	-	02	5.12	22	56.41	14	35.89
Regularity and punctuality to lectures / Practicals	01	2.56	-	-	07	17.94	15	38.46	16	41.02
Skill in explaining Difficult Points	01	2.56	-	-	01	2.56	15	38.46	22	56.41
			Dr.R.G.Sa	` '		_				
Command Over Subject	01	2.56	02	5.12	04	10.25	20	51.28	12	30.76
Usage of Case studies, current events in Lectures	01	2.56	02	5.12	02	5.12	12	30.76	22	56.41
Resolving students' doubts/questions	01	2.56	02	5.12	01	2.56	14	35.89	21	53.84
Motivating Students to develop further interest in subject/ higher studies.	01	2.56	02	5.12	01	2.56	13	33.33	22	56.41
Usage of interactive teaching method (Seminars, Tutorials Quiz, Etc.)	01	2.56	02	5.12	01	2.56	14	35.89	21	53.84
Frequency of giving references and further reading	01	2.56	02	5.12	01	2.56	16	41.02	19	48.71
Training and preparing students for examination	01	2.56	02	5.12	02	5.12	16	41.02	18	46.15
			Dr.R.G.Sa	ner(Attit	ude)					
Attitude Towards Students, friendly and Encouraging	01	2.56	-	-	06	15.38	21	53.84	11	28.20
Usefulness in Student counselling : Personal/Career	01	2.56	-	-	03	7.69	12	30.76	23	58.97
Skills in motivating Students for extra -curricular activities	01	2.56	-	-	06	15.38	18	46.15	14	35.89
Teacher's participation in extra	01	2.56	-	-	05	12.82	14	35.89	19	48.71

curricular Activities										
<b>Use of ICT Tools for teaching</b>	01	2.56	-	1	04	10.25	22	56.41	12	30.76
Use of Google Class	01	2.56	-	-	06	15.38	15	38.46	17	43.58
Overall Impression as a Teacher	-	-	-	-	01	2.56	10	25.64	28	71.79
Overall Impression as a Person	-	-	-	-	01	2.56	02	5.12	36	92.30

**Discussion of finding:** - In **general regarding** the **Educational department** response obtained from 39 students of the college about **Dr. R.G.Saner** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr. R.G.Saner expertise in the subject**, the responses received from 39 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr. R.G.Saner** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr. R.G.Saner** is very good.

			Econom	ics DEPT						
Mrs. M.V.Chaud	hari (Ge	neral)				To	tal Stude	nt = 18		
	Below	Average	Aver	age	G	ood	Very	Good	Exc	ellent
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	-	-	-	-	10	55.55	04	22.22	04	22.22
Class Control	-	-	-	-	04	22.22	10	55.55	04	22.22
Regularity and punctuality to lectures / Practicals	-	-	-	-	08	44.44	04	22.22	06	33.33
Skill in explaining Difficult Points	-	-	_	-	04	22.22	09	50.00	05	27.77
		Mı	s. M.V.Cha	udhari(Su	bject)					
Command Over Subject	-	-	-	-	07	38.88	07	38.88	04	22.22
Usage of Case studies, current events in Lectures	-	-	-	-	03	16.66	10	55.55	05	27.77
Resolving students' doubts/questions	-	-	-	-	06	33.33	06	33.33	06	33.33
Motivating Students to develop further interest in subject/ higher studies.	-	-	-	-	03	16.66	09	50.00	06	33.33
Usage of interactive teaching method(Seminars,Tutorials Quiz, Etc.)	-	-	-	-	05	27.77	07	38.88	06	33.33
Frequency of giving references and further reading	-	-	-	-	07	38.88	05	27.77	06	33.33
Training and preparing students for examination	-	-	-	-	09	50.00	05	27.77	04	22.22
		Mr	s. M.V.Cha	udhari(At	titude)	1	T		T	
Attitude Towards Students, friendly and Encouraging	_	-	-	-	08	44.44	07	38.88	03	16.66
Usefulness in Student counselling : Personal/Career	-	-	-	-	05	27.77	09	5.00	04	22.22
Skills in motivating Students for extra -curricular activities	-	-	-	-	05	27.77	09	50.00	04	22.22

Teacher's participation in extracurricular Activities	-	-	-	-	04	22.22	08	44.44	06	33.33
<b>Use of ICT Tools for teaching</b>	-	-	-	-	10	55.55	05	27.77	03	16.66
Use of Google Class	_	-	-	-	09	50.00	04	22.22	05	27.77
Overall Impression as a Teacher	01	5.55	-	-	02	11.11	10	55.55	05	27.77
Overall Impression as a Person	01	5.55	-	-	-	-	02	11.11	15	83.33

**Discussion of finding:** - In **general regarding** the **Economics department** response obtained from 18 students of the college about **Mrs. M.V.Chaudhari** said that her command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

Mrs. M.V.Chaudhari expertise in the subject, the responses received from 18 students revealed that, her command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

Mrs. M.V.Chaudhari attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of Mrs. M.V.Chaudhari is very good.

			Psycho	logy Dept	Ţ.					
Mr.R.V.More(	Genera	<u>l)</u>				To	tal Stude	nt = 25		
	Below	Average	Aver	age	G	ood	Very	Good	Exc	ellent
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	-	-	-	-	12	48.00	09	36.00	04	16.00
Class Control	-	-	-	-	06	24.00	14	56.00	05	20.00
Regularity and punctuality to lectures / Practicals	-	-	-	-	12	48.00	08	32.00	05	20.00
Skill in explaining Difficult Points	-	-	01	4.00	06	24.00	13	52.00	05	20.00
-			Mr.R.V.M	ore (Sub	ject)					
<b>Command Over Subject</b>	01	4.00	02	8.00	10	40.00	07	28.00	05	20.00
Usage of Case studies, current events in Lectures	01	4.00	04	16.99	05	20.00	09	36.00	06	24.00
Resolving students' doubts/questions	01	4.00	02	8.00	08	32.00	12	48.00	02	8.00
Motivating Students to develop further interest in subject/ higher studies.	01	4.00	02	8.00	08	32.00	08	32.00	06	24.00
Usage of interactive teaching method(Seminars,Tutorials Quiz, Etc.)	01	4.00	01	4.00	08	32.00	11	44.00	04	16.00
Frequency of giving references and further reading	01	4.00	02	8.00	07	28.00	06	24.00	09	36.00
Training and preparing students for examination	01	4.00	01	4.00	06	24.00	11	44.00	06	24.00
			Mr.R.V.M	ore (Attit	ude)					
Attitude Towards Students, friendly and Encouraging	-	-	02	8.00	12	48.00	05	20.00	06	24.00
Usefulness in Student counselling : Personal/Career	-	-	02	8.00	05	20.00	14	56.00	04	16.00
Skills in motivating Students for extra -curricular activities	-	-	01	4.00	11	44.00	07	28.00	06	24.00
Teacher's participation in extracurricular Activities	-	-	01	4.00	09	36.00	09	36.00	06	24.00

Use of ICT Tools for teaching	-	-	04	16.00	06	24.00	11	44.00	04	16.00
	-	-	04	16.00	09	36.00	06	24.00	06	24.00
Overall Impression as a Teacher	02	8.00	-	-	02	8.00	13	52.00	08	32.00
Overall Impression as a Person	02	8.00	-	-	1	-	10	40.00	13	52.00

**Discussion of finding:** - In **general regarding** the **psychological department** response obtained from 25 students of the college about **Dr.R V More** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr.R V More expertise in the subject**, the responses received from 25 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr.R V More** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr.R V More** is very good.

The responses received from the 25 students of the psychological department said that, Dr R V More as teacher in the subject expertise and attitude need to be improved as the few responded toward the below and average side of the respectively statements.

Dr.K.B.Patil

				Defence De	pt.					
Dr.K.B.Pa	til (Gen	eral)				`	Total Stu	udent = 38		
	Below	Average	Averag	e	Good		Very G	food	Excelle	nt
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	01	2.63	02	5.26	14	36.84	16	42.10	06	15.78
Class Control	01	2.63	01	2.63	08	21.05	23		06	15.78
Regularity and punctuality to lectures / Practicals	01	2.63	01	2.63	15	39.47	14	36.84	08	21.05
Skill in explaining Difficult Points	01	2.63	01	2.63	08	21.05	20	52.63	09	23.68
	•	•	Dr.I	K.B.Patil(Su	bject)		•	•	•	
Command Over Subject	02	5.26	03	7.89	12		18	47.36	06	15.78
Usage of Case studies, current events in Lectures	02	5.26	04	10.52	06	15.78	17	44.73	10	26.31
Resolving students' doubts/questions	03	7.89	02	5.26	08	21.05	19		07	18.42
Motivating Students to develop further interest in subject/ higher studies.	02	5.26	03	7.89	09	23.68	17	44.73	08	21.05
Usage of interactive teaching method (Seminars, Tutorials Quiz, Etc.)	02	5.26	04	10.52	10	26.31	14	36.84	09	23.68
Frequency of giving references and further reading	03	7.89	03	7.89	13	34.21	13	34.21	07	18.42
Training and preparing students for examination	02	5.26	05	13.15	10	26.31	16	42.10	06	15.78
			Dr.K	.B.Patil (At	titude)					
Attitude Towards Students, friendly and Encouraging	01	2.63	01	2.63	15	39.47	14	36.84	08	21.05
Usefulness in Student counseling : Personal/Career	-	-	03	7.89	11	28.94	15	39.47	10	26.31

Skills in motivating Students for extra -curricular activities	01	2.63	01	2.63	15	39.47	15	39.47	07	18.42
Teacher's participation in extracurricular Activities	01	2.63	01	2.63	14	36.84	15	39.47	08	21.05
Use of ICT Tools for teaching	01	2.63	02	5.26	20	52.63	09	23.68	07	18.42
Use Of Google Class	01	2.63	03	7.89	17	44.73	13	34.21	05	13.15
Overall Impression as a Teacher	01	2.63	01	2.63	04	10.52	16	42.10	17	44.73
Overall Impression as a Person	01	2.63	-	-	04	10.52	16	42.10	18	47.36

**Discussion of finding:** - In **general regarding** the **Defense department** response obtained from 38 students of the college about **Dr. K B Patil** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr. K B Patil expertise in the subject**, the responses received from 38 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr. K B Patil** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr. K B Patil** is very good.

The responses received from the 38 students of the Defense department said that, Dr K B Patil as teacher in the subject expertise and attitude need to be improved as the few responded toward the below and average side of the respectively statements

Dr. I. R. Girase

Dr. I.	R. Giras	se (Genera	al)				To	tal Student	= 25	
	Below	Average	Averag	e	Good	1	Very G	ood	Excelle	nt
	Total	%	Total	%	Total	%	Total	%	Total	%
Command over Language	01	4.00	-	-	11	44.00	10	40.00	04	16.00
Class Control	01	4.00	-	-	03	12.00	17	64.00	05	20.00
Regularity and punctuality to lectures / Practical's	01	4.00	-	-	09	36.00	13	52.00	03	12.00
Skill in explaining Difficult Points	01	4.00	01	4.00	03	12.00	14	56.00	07	28.00
			Dr. I.	R. Girase (	Subject)					
Command Over Subject	02	8.00	05		05	20.00	10	40.00	04	16.00
Usage of Case studies, current events in Lectures	02	8.00	03	12.00	09	36.00	08	32.00	04	16.00
Resolving students' doubts/questions	02	8.00	03	12.00	05	20.00	14	56.00	02	8.00
Motivating Students to develop further interest in subject/ higher studies.	02	8.00	03	12.00	07	28.00	10	40.00	04	16.00
Usage of interactive teaching method (Seminars, Tutorials Quiz, Etc.)	02	8.00	03	12.00	07	28.00	11	44.00	03	12.00
Frequency of giving references and further reading	02	8.00	03	12.00	06	24.00	10	40.00	05	20.00
Training and preparing students for examination	02	8.00	03	12.00	07	28.00	07	28.00	07	28.00
			Dr.I.	R.Girase (A	ttitude)					
Attitude Towards Students, friendly and Encouraging	01	4.00	01	4.00	10	40.00	10	40.00	04	16.00
Usefulness in Student counseling : Personal/Career	01	4.00	01	4.00	11	44.00	08	32.00	05	20.00
Skills in motivating Students for	01	4.00	01	4.00	08	32.00	11	44.00	05	20.00

extra -curricular activities										
Teacher's participation in extracurricular Activities	01	4.00	01	4.00	09	36.00	10	40.00	05	20.00
Use of ICT Tools for teaching	01	4.00	01	4.00	11	44.00	10	40.00	03	12.00
Use of Google Class	01	4.00	01	4.00	12	48.00	09	36.00	03	12.00
Overall Impression as a Teacher	-	-	-	-	02	8.00	12	48.00	12	48.00
Overall Impression as a Person	-	-	-	-	01	4.00	04	16.00	21	84.00

**Discussion of finding:** - In **general regarding** the **Defense department** response obtained from 25 students of the college about **Dr.**I. R. Girase said that her command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr. I. R. Girase expertise in the subject**, the responses received from 25 students revealed that, her command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr. I. R. Girase** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr. I. R. Girase** is very good.

The responses received from the 25 students of the Defense department said that, Dr I. R. Girase as teacher in the subject expertise and attitude <u>need to be improved as the few responded toward the below and average side of the respectively statements</u>

			F	English De	pt.						
Dr.G.P.Pat	il (Gene	ral)				\r	<b>Fotal Stu</b>	dent = 35			
	Below	Average	Averag		Good		Very G	ood			
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent	
Command over Language	-	-	01	2.85	06	17.14	10	28.57	18	51.42	
Class Control	-	-	-	-	06	17.14	15	42.85	14	40.00	
Regularity and punctuality to	_	_	_	_	08	22.85	05	14.28	22	62.85	
lectures / Practicals					00	22.03	03	14.20	22	02.03	
Skill in explaining Difficult	_	_	_	_	07	20.00	17	48.57	11	31.42	
Points						20.00	1,	10.57		31.12	
	1	I		.P.Patil(St	<del>- '</del>	T	T	1	T .		
Command Over Subject	-		01	2.85	05	14.28	13	37.14	16	45.71	
Usage of Case studies, current	01	2.85	_	_	03	8.57	16	45.71	15	42.85	
events in Lectures											
Resolving students'	01	2.85	_	_	06	17.14	13	37.14	15	42.85	
doubts/questions											
Motivating Students to develop			01	2.05	03	8.57	15	42.05	16	45.71	
further interest in subject/ higher studies.	-	-	01	2.85	03	8.57	15	42.85	10	45.71	
Usage of interactive teaching											
method(Seminars, Tutorials	_	_	01	2.85	04	11.42	13	37.14	17	48.57	
Quiz, Etc.)			01	2.03	04	11.72	13	37.14	17	40.57	
Frequency of giving references											
and further reading	01	2.85	01	2.85	03	8.57	14	40.00	16	45.71	
Training and preparing	01	2.85	-	-	05	14.28	13	37.14	16	45.71	
students for examination			D C	D D-49/A	(4°4 J -)						
Attitude Terrende Ctudents			Dr.G.	.P.Patil(At	intuae)					1	
Attitude Towards Students, friendly and Encouraging	-	-	-		05	14.28	16	45.71	14	40.00	
Usefulness in Student											
counselling : Personal/Career	-	-	01	2.85	02	5.71	14	40.00	18	51.42	
Skills in motivating Students for											
extra -curricular activities	-	-	-	-	04	11.42	16	45.71	15	42.85	
CAH a -Cullicular activities											

Teacher's participation in extra curricular Activities	-	-	-	-	01	2.85	17	48.57	17	48.57
<b>Use of ICT Tools for teaching</b>	-	-	01	2.85	04	11.42	14	40.00	16	45.71
<b>Use of Google Class</b>	-	-	01	2.85	03	8.57	14	40.00	17	48.57
Overall Impression as a Teacher	-	-	-	-		-	12	34.28	23	65.71
Overall Impression as a Person	-	-	-	-	-	-	07	20.00	28	80.00

**Discussion of finding:** - In **general regarding** the **English department** response obtained from 35 students of the college about **Dr. G P Patil** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr. G P Patil expertise in the subject**, the responses received from 35 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr. G P Patil** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr. G P Patil** is very good.

The responses received from the 35 students of the English department said that, Dr G P Patil as teacher in the subject expertise need to be improved as the few responded toward the below and average side of the respectively statements

Mr.B.W.Sonar	(Genera	al)			Total Student = 35						
	Below	Average	Average		Good		Very Go	ood	Excellent		
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent	
<b>Command over Language</b>	-	-	-		10	28.57	13	37.14	11	31.42	
Class Control	-		02	5.71	09	25.71	16	45.71	08	22.85	
Regularity and punctuality to lectures / Practical's	_	-	02	5.71	11	31.42	10	28.57	12	34.28	
Skill in explaining Difficult Points	-	-	04	11.42	07	20.00	11	31.42	13	37.14	
	•	•	Mr.B.W.S	Sonar(Sub	ject)	•				•	
Command Over Subject	01	2.85	05	14.28	04	11.42	13	37.14	12	34.28	
Usage of Case studies, current events in Lectures	02	5.71	01	2.85	10	28.57	14	40.00	08	22.85	
Resolving students' doubts/questions	_	-	03	8.57	10	28.57	12	34.28	10	28.57	
Motivating Students to develop further interest in subject/ higher studies.	-	-	04	11.42	09	25.71	17	48.57	05	14.28	
Usage of interactive teaching method(Seminars, Tutorials Quiz, Etc.)	-	-	03	8.57	10	28.57	12	34.28	10	28.57	
Frequency of giving references and further reading	01	2.85	01	2.85	08	22.85	15	42.85	10	28.57	
Training and preparing students for examination	-	-	02	5.71	12	34.28	10	28.57	11	31.42	
			Mr.B.W.S	onar(Atti	tude)						
Attitude Towards Students, friendly and Encouraging	-	-	01	2.85	10	28.57	17	48.57	07	20.00	
Usefulness in Student counselling : Personal/Career	_	-	03	8.57	10	28.57	13	37.14	09	25.71	
Skills in motivating Students for extra -curricular activities	_	-	-	-	14	40.00	14	40.00	07	20.00	
Teacher's participation in extra curricular Activities	01	2.85	-	-	10	28.57	13	37.14	11	31.42	
<b>Use of ICT Tools for teaching</b>	-	-	01	2.85	12	34.28	16	45.71	06	17.14	

Use of Google Class	-	-	02	5.71	06	17.14	14	40.00	13	37.14
Overall Impression as a Teacher	-	-	-	-	02	5.71	20	57.14	13	37.14
Overall Impression as a Person	-	-	-	-	02	5.71	17	48.57	16	45.71

**Discussion of finding:** - In **general regarding** the **English department** response obtained from 35 students of the college about **Mr**. **B W Sonar** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

Mr. B W Sonar expertise in the subject, the responses received from 35 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Mr**. **B W Sonar** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Mr**. **B W Sonar** is very good.

The responses received from the 35 students of the English department said that, Mr. B W Sonar as teacher in the subject expertise and attitude need to be improved as the few responded toward the below and average side of the respectively statements

Mrs.V.Y.Patil (	Genera	l)			Total Student = 35						
	Below	Average	Average		Good		Very Go	od	Excellent		
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent	
Command over Language	-		-	-	08	22.85	11	31.42	16	45.71	
Class Control	-		02	5.71	07	20.00	11	31.42	15	42.85	
Regularity and punctuality to lectures / Practicals	-		01	2.85	04	11.42	10	28.57	20	57.14	
Skill in explaining Difficult Points	_		01	2.85	10	28.57	10	28.57	14	40.00	
g	I	l	Mrs.V.Y.		ect)						
Command Over Subject	-		01	2.85	10	28.57	10	28.57	14	40.00	
Usage of Case studies, current events in Lectures	01	2.85	01	2.85	08	22.85	12	34.28	13	37.14	
Resolving students' doubts/questions	-	-	04	11.42	06	17.14	09	25.71	16	45.71	
Motivating Students to develop further interest in subject/ higher studies.	-	-	03	8.57	06	17.14	10	28.57	16	45.71	
Usage of interactive teaching method(Seminars,Tutorials Quiz, Etc.)	01	2.85	01	2.85	07	20.00	07	20.00	19	54.28	
Frequency of giving references and further reading	-	-	02	5.71	08	22.85	13	37.14	12	34.28	
Training and preparing students for examination	-	-	02	5.71	07	20.00	08	22.85	18	51.42	
			Mrs.V.Y.l	Patil(Attit	ude)						
Attitude Towards Students, friendly and Encouraging	-	-	01	2.85	07	20.00	11	31.42	16	45.71	
Usefulness in Student counselling : Personal/Career	-	-	02	5.71	06	17.14	12	34.28	15	42.85	
Skills in motivating Students for extra -curricular activities	-	-	01	2.85	07	20.00	11	31.42	16	45.71	
Teacher's participation in extra curricular Activities	-	-	-	-	08	22.85	09	25.71	18	51.42	
<b>Use of ICT Tools for teaching</b>	-	-	01	2.85	03	8.57	16	45.71	15	42.85	

Use of Google Class	-	-	02	5.71	06	17.14	09	25.71	18	51.42
Overall Impression as a Teacher	-	-	-	-	-	-	18	51.42	17	48.57
Overall Impression as a Person	-	-	-	-	-	-	15	42.85	20	57.14

**Discussion of finding:** - In **general regarding** the **English department** response obtained from 35 students of the college about **Mrs**. **V Y Patil** said that her command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

Mrs. V Y Patil expertise in the subject, the responses received from 35 students revealed that, her command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

Mrs. V Y Patil attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of Mrs. V Y Patil is very good.

The responses received from the 35 students of the English department said that, Mrs. V Y Patil as teacher in the subject expertise and attitude need to be improved as the few responded toward average side of the respectively statements

				Hindi Dept						
Smt. Suniti Aacl	harya (C	General)				`	<b>Total Stu</b>	udent = 22		
		Average		verage		Good		y Good		cellent
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	-	-	-	-	05	22.72	09	40.90	08	36.36
Class Control	-	-	-	-	03	13.63	09	40.90	10	45.45
Regularity and punctuality to	_	_	_	_	02	9.09	12	54.54	08	36.36
lectures / Practicals					02	7.07	12	34.54	00	30.30
Skill in explaining Difficult	_	_	_	_	02	9.09	09	40.90	11	50.00
Points							0)	+0.70	11	30.00
	•	S	<u>Smt. Suni</u>	ti Aacharya	` •	<del></del>	1	1		ı
Command Over Subject	-	-	-	-	06	27.27	05	22.72	11	50.00
Usage of Case studies, current	_		_	_	01	4.54	09	40.90	12	54.54
events in Lectures				_	01	7.54	0)	+0.70	12	34.34
Resolving students'	_		_	_	04	18.18	06	27.27	12	54.54
doubts/questions				_	04	10.10	00	21.21	12	34.34
Motivating Students to develop										
further interest in subject/	-	-	-	-	02	9.09	09	40.90	11	50.00
higher studies.										
Usage of interactive teaching										
method(Seminars,Tutorials	-	-	-	-	02	9.09	12	54.54	08	36.36
Quiz, Etc.)										
Frequency of giving references	_	_	_	_	02	9.09	06	27.27	14	63.63
and further reading					02	7.07	00	27.27	1	03.03
Training and preparing students	_	_	_	_	03	13.63	08	36.36	11	50.00
for examination								30.30		20.00
		S	mt. Suni	ti Aacharya	(Attitude	<u>e)</u>	T	1		<u></u>
Attitude Towards Students,	_	_	_	_	02	9.09	12	54.54	08	36.36
friendly and Encouraging					02	7.07	12	31.31		30.30
<b>Usefulness in Student counselling</b>	_	_	_	_	03	13.63	09	40.90	10	45.45
: Personal/Career						15.05		10.70	10	13.43
Skills in motivating Students for	_		_	_	03	13.63	09	40.90	10	45.45
extra -curricular activities					0.5	15.05	0)	10.70	10	13.73
Teacher's participation in	-	_	-	-	03	13.63	10	45.45	09	40.90

extracurricular Activities										
<b>Use of ICT Tools for teaching</b>	-		01	4.54	04	18.18	08	36.36	09	40.90
Use of Google Class	1		1		05	22.72	10	45.45	07	31.81
Overall Impression as a Teacher	ı	-	1	-	01	4.54	09	40.90	12	54.54
Overall Impression as a Person	1	-	01	4.54	-	1	08	36.36	13	59.09

**Discussion of finding:** - In **general regarding** the **Hindi department** response obtained from 22 students of the college about **Dr. Suniti Acharya** said that her command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr. Suniti Acharya expertise in the subject**, the responses received from 22 students revealed that, her command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr. Suniti Acharya** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr. Suniti Acharya** is Excellent.

			GEO	GRAPHY 1	Dept.					
Dr.R.M.Wad	ile (Ger	neral)				•	Total Stu	ident = 18		
		Average		erage		Good		y Good Excellent		
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	-	-	01	5.55	03	16.66	04	22.22	10	55.55
Class Control		-	-	-	02	11.11	05	27.77	11	61.11
Regularity and punctuality to	_	-	02	11.11	03	16.66	04	22.22	09	50.00
lectures / Practicals										
Skill in explaining Difficult Points	-	-	-	-	05	27.77	03	16.66	10	55.55
	1		Dr.R.N	I.Wadile(S	ubject)		<u> </u>		1	l.
Command Over Subject	01	5.55	01	5.55	03	16.66	03	16.66	10	55.55
Usage of Case studies, current events in Lectures	01	5.55	01	5.55	01	5.55	05	27.77	10	55.55
Resolving students' doubts/questions	01	5.55	01	5.55	02	11.11	04	22.22	10	55.55
Motivating Students to develop further interest in subject/higher studies.	-	-	02	11.11	02	11.11	04	22.22	10	55.55
Usage of interactive teaching method(Seminars,Tutorials Quiz, Etc.)	02	11.11	-	-	03	16.66	04	22.22	09	50.00
Frequency of giving references and further reading	01	5.55	01	5.55	02	11.11	04	22.22	10	55.55
Training and preparing students for examination	01	5.55	01	5.55	03	16.66	02	11.11	11	61.11
			Dr.R.M	I.Wadile(A	ttitude)				_	
Attitude Towards Students, friendly and Encouraging	-	-	02	11.11	03	16.66	03	16.66	10	55.55
Usefulness in Student counselling : Personal/Career	-	-	-	-	05	27.77	02	11.11	11	61.11
Skills in motivating Students for extra -curricular activities	02	11.11	_	-	03	16.66	02	11.11	11	61.11
Teacher's participation in extra	-	-	-	-	04	22.22	04	22.22	10	55.55

curricular Activities										
<b>Use of ICT Tools for teaching</b>	ı	-	01	5.55	04	22.22	03	16.66	10	55.55
Use of Google Class	1	-	01	5.55	02	11.11	04	22.22	11	61.11
<b>Overall Impression as a Teacher</b>	ı	-	01	5.55	-	-	06	33.33	11	61.11
Overall Impression as a Person	ı	-	-	-	02	11.11	05	27.77	11	61.11

**Discussion of finding:** - In **general regarding** the **Geography department** response obtained from 18 students of the college about **Dr. R M Wadile** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr. R M Wadile expertise in the subject**, the responses received from 18 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr. R M Wadile** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr. R M Wadile** is Excellent.

The responses received from the 18 students of the Geography department said that, Dr R M Wadile as teacher in the subject expertise and attitude <u>need to be improved as the few responded toward average side of the respectively statements</u>

Mr.L.Z.Patil (	General	)				To	tal Stude	nt = 43		
	Below	Average	Average		Good		Very Go	ood	Excellen	t
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	-	-	01	2.32	21	48.83	10	23.25	11	25.58
Class Control	-	-	01	2.32	08	18.60	20	46.51	14	32.55
Regularity and punctuality to lectures / Practicals	-	-	01	2.32	13	30.23	18	41.86	11	25.58
Skill in explaining Difficult Points	_	-	-	-	09	20.93	15	34.88	21	48.83
	l		Mr.L.Z.l	Patil(Subj	ect)	1	l			I
Command Over Subject	02	4.65	02	4.65	13	30.23	12	27.90	14	32.55
Usage of Case studies, current events in Lectures	02	4.65	01	2.32	06	13.95	19	44.18	15	34.88
Resolving students' doubts/questions	01	2.32	02	4.65	11	25.58	12	27.90	17	39.53
Motivating Students to develop further interest in subject/ higher studies.	02	4.65	01	2.32	09	20.93	15	34.88	16	37.20
Usage of interactive teaching method(Seminars,Tutorials Quiz, Etc.)	01	2.32	02	4.65	10	23.25	15	34.88	15	34.88
Frequency of giving references and further reading	01	2.32	03	6.97	07	16.27	17	39.53	15	34.88
Training and preparing students for examination	02	4.65	01	2.32	14	32.55	10	23.25	16	37.20
			Mr.L.Z.F	Patil(Attitu	ıde)					
Attitude Towards Students, friendly and Encouraging	01	2.32	02	4.65	15	34.88	12	27.90	13	30.23
Usefulness in Student counselling : Personal/Career	01	2.32	01	2.32	11	25.58	16	37.20	14	32.55
Skills in motivating Students for extra -curricular activities	01	2.32	02	4.65	10	23.25	15	34.88	15	34.88
Teacher's participation in extra curricular Activities	02	4.65	02	4.65	11	25.58	11	25.58	17	39.53
<b>Use of ICT Tools for teaching</b>	01	2.32	02	4.65	14	32.55	10	23.25	16	37.20

Use of Google Class	01	2.32	-	-	17	39.53	10	23.25	15	34.88
Overall Impression as a Teacher	02	4.65	01	2.32	02	4.65	19	44.18	19	44.18
Overall Impression as a Person	02	4.65	-	-	03	6.97	17	39.53	21	48.83

**Discussion of finding:** - In **general regarding** the **Geography department** response obtained from 43 students of the college about **Mr. L Z Patil** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

Mr. L Z Patil expertise in the subject, the responses received from 43 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

Mr. L Z Patil attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of Mr. L Z Patil is Excellent.

The responses received from the 43 students of the Geography department said that, Mr. L Z Patil as teacher in the subject expertise and attitude need to be improved as the few responded toward average side of the respectively statements

History Dept.												
Dr.H.R.Chau	dhari (G	leneral)				`	Total Stu	ident = 43				
	Below	Average	Averag	e	Good		Very G	ood	Excelle	ent		
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent		
Command over Language	-	-	-	-	04	9.30	27	62.79	12	27.90		
Class Control	01	2.32	-	-	07	16.27	17	39.53	18	41.86		
Regularity and punctuality to lectures / Practicals	-	-	-	-	12	27.90	15	34.88	16	37.20		
Skill in explaining Difficult Points	-	-	-	-	08	18.60	16	37.20	19	44.18		
			Dr.H.R	.Chaudhari	i(Subject	)						
Command Over Subject	_	-	-	-	13	30.23	16	37.20	14	32.55		
Usage of Case studies, current events in Lectures	-	-	01	2.32	07	16.27	23	53.48	12	27.90		
Resolving students' doubts/questions	-	-	02	4.65	05	11.62	20	46.51	16	37.20		
Motivating Students to develop further interest in subject/ higher studies.	-	-	-	-	10	23.25	18	41.86	15	34.88		
Usage of interactive teaching method(Seminars, Tutorials Quiz, Etc.)	-	-	-	-	06	13.95	20	46.51	17	39.53		
Frequency of giving references and further reading	-	-	-	-	10	23.25	17	39.53	16	37.20		
Training and preparing students for examination	-	-	01	2.32	05	11.62	25	58.13	12	27.90		
			Dr.H.R.	Chaudhari	(Attitude	e)				_		
Attitude Towards Students, friendly and Encouraging	-	-	-	-	11	25.58	22	51.16	10	23.25		
Usefulness in Student counseling : Personal/Career		-	-	-	10	23.25	20	46.51	13	30.23		
Skills in motivating Students for extra -curricular activities	-	-	-	-	09	20.93	22	51.16	12	27.90		

Teacher's participation in extracurricular Activities	-	-	-	-	06	13.95	24	55.81	13	30.23
Use of ICT Tools for teaching	01	2.32	-	-	25	58.13	07	16.27	10	23.25
Use Of Google Class	-	-	02	4.65	19	44.18	12	27.90	10	23.25
Overall Impression as a Teacher	03	6.97	-	-	-	-	20	46.51	20	46.51
Overall Impression as a Person	03	6.97	-	-	02	4.65	08	18.60	30	69.76

**Discussion of finding: -** In **general regarding** the **History department** response obtained from 43 students of the college about **Dr.H R Chaudhari** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr.H R Chaudhari expertise in the subject**, the responses received from 43 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr.H R Chaudhari** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr.H R Chaudhari** is Excellent.

The responses received from the 43 students of the History department said that, Dr.H R Chaudhari as teacher in the subject expertise and attitude need to be improved as the few responded toward average side of the respectively statements

## Mr. B.I. Pardeshi

Mr.B.	I.Pardes	hi (Gener	al)			Total Student = 67					
	Below	Average	Averag	e	Good		Very G	ood	Excelle	nt	
	Total	%	Total	%	Total	%	Total	%	Total	%	
Command over Language	-	-	-	-	38	56.71	17	25.37	12	17.91	
Class Control	-	-	11	16.41	23	34.32	20	29.85	13	19.40	
Regularity and punctuality to lectures / Practical's	-	-	02	2.98	36	53.73	10	14.92	19	28.35	
Skill in explaining Difficult Points	-	-	09	13.43	24	35.82	20	29.85	14	20.89	
		•	Mr.B.	I.Pardeshi(	Subject)					•	
Command Over Subject	-	-	08	11.94	29	43.28	17	25.37	13	19.40	
Usage of Case studies, current events in Lectures	01	1.49	06	8.95	22	32.83	22	32.83	16	23.88	
Resolving students' doubts/questions	-	-	07	10.44	30	44.77	19	28.35	11	16.41	
Motivating Students to develop further interest in subject/ higher studies.	-	-	08	11.94	24	35.82	22	32.83	13	19.40	
Usage of interactive teaching method (Seminars, Tutorials Quiz, Etc.)	01	1.49	05	7.46	27	40.29	20	29.85	14	20.89	
Frequency of giving references and further reading	01	1.49	08	11.94	25	37.31	19	28.35	14	20.89	
Training and preparing students for examination	-	-	08	11.94	22	32.83	22	32.83	15	22.38	
			Mr.B.	I.Pardeshi(	Attitude	)					
Attitude Towards Students, friendly and Encouraging	01	1.49	02	2.98	32	47.76	20	29.85	12	17.91	
Usefulness in Student counseling : Personal/Career	-	-	07	10.44	20	29.85	22	32.83	18	26.86	
Skills in motivating Students for	-	-	06	8.95	25	37.31	23	34.32	13	19.40	

extra -curricular activities										
Teacher's participation in extracurricular Activities	02	2.98	04	5.97	25	37.31	23	34.32	13	19.40
Use of ICT Tools for teaching	-	-	04	5.97	30	44.77	19	28.35	14	20.89
Use of Google Class	-	-	07	10.44	29	43.28	17	25.37	14	20.89
Overall Impression as a Teacher	04	5.97	01	1.49	14	20.89	33	49.25	15	22.38
Overall Impression as a Person	04	5.97	01	1.49	10	14.92	36	53.73	16	23.88

**Discussion of finding:** - In **general regarding** the **History department** response obtained from 67 students of the college about **Mr. B I Pardeshi** said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Mr. B I Pardeshi expertise in the subject**, the responses received from 67 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Mr. B I Pardeshi** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Mr. B I Pardeshi** is Excellent.

The responses received from the 67 students of the History department said that, Mr. B I Pardeshi as teacher in the subject expertise and attitude <u>need to be improved as the few responded toward average side of the respectively statements</u>

Smt. S. M. Deore

				Marathi De	pt					
Smt. S. M. Dec	ore (Gen	eral)					`Total St	udent = 52		
	Below	Average	Average		Good		Very G	ood	Excelle	nt
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	01	1.92	01	1.92	21	40.38	24	46.15	05	9.61
Class Control	01	1.92	01	1.92	12	23.07	30	57.69	08	15.38
Regularity and punctuality to lectures / Practical	-	-	03	5.76	17	32.69	24	46.15	08	15.38
Skill in explaining Difficult Points	01	1.92	01	1.92	09	17.30	31	59.61	10	19.23
			Smt. S	S. M. Deore (	Subject)	•				
Command Over Subject	01	1.92	04	7.69	17	32.69	21	40.38	09	17.30
Usage of Case studies, current events in Lectures	02	3.84	02	3.84	07	13.46	26	50.00	15	28.84
Resolving students' doubts/questions	02	3.84	02	3.84	14	26.92	24	46.15	10	19.23
Motivating Students to develop further interest in subject/ higher studies.	01	1.92	04	7.69	08	15.38	25	48.07	14	26.92
Usage of interactive teaching method (Seminars, Tutorials Quiz, Etc.)	03	5.76	02	3.84	14	26.92	25	48.07	08	15.38
Frequency of giving references and further reading	04	7.69	02	3.84	14	26.92	23	44.23	09	17.30
Training and preparing students for examination	02	3.84	04	7.69	13	25.00	26	50.00	07	13.46
			Smt. S	S. M. Deore (	Attitude)					
Attitude Towards Students, friendly and Encouraging	02	3.84	02	3.84	19	36.53	20	38.46	09	17.30
Usefulness in Student counseling : Personal/Career	02	3.84	01	1.92	13	25.00	25	48.07	11	21.15
Skills in motivating Students for extra -curricular activities	01	1.92	01	1.92	20	38.46	21	40.38	09	17.30
Teacher's participation in extracurricular Activities	01	1.92	02	3.84	15	28.84	26	50.00	08	15.38
Use of ICT Tools for teaching	01	1.92	01	1.92	26	50.00	15	28.84	09	17.30

Use of Google Class	02	3.84	-	-	23	44.23	18	34.61	09	17.30
Overall Impression as a Teacher	05	9.61	01	1.92	03	5.76	25	48.07	18	34.61
Overall Impression as a Person	04	7.69	01	1.92	03	5.76	17	32.69	27	51.92

**Discussion of finding:** - In **general regarding** the **Marathi department** response obtained from 52 students of the college about **Dr. S. M. Deore** said that her command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr. S. M. Deore expertise in the subject**, the responses received from 52 students revealed that, her command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr. S. M. Deore** attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr. S. M. Deore** is very good.

The responses received from the 52 students of the Marathi department said that, Dr. S. M. Deore as teacher in the subject expertise and attitude <u>need to be improved as the few responded toward average side of the respectively statements</u>

## Dr.Y.M.Pawar

				Marathi De	ept					
Dr.Y.M.Pawa	ar (Gene	ral)					`Total St	udent = 29		
	Below	Average	Average	<b>)</b>	Good		Very G	ood	Excelle	nt
	Total	Percent	Total	Percent	Total	Percent	Total	Percent	Total	Percent
Command over Language	01	3.44	-	-	14	48.27	13	44,82	01	3.44
Class Control	01	3.44	-	-	07	20.68	17	58.62	04	13.79
Regularity and punctuality to lectures / Practical	01	3.44	-	-	11	37.93	12	41.37	05	17.24
Skill in explaining Difficult Points	01	3.44	-	-	09	31.03	16	55.17	03	10.34
			Dr.Y	.M.Pawar (	Subject)	•				
Command Over Subject	01	3.44	01	3.44	09	31.03	17	58.62	01	3.44
Usage of Case studies, current events in Lectures	02	6.89	-	-	03	10.34	20	68.96	04	13.79
Resolving students' doubts/questions	01	3.44	01	3.44	10	34.48	14	48.27	03	10.34
Motivating Students to develop further interest in subject/ higher studies.	01	3.44	01	3.44	06	20.68	16	55.17	05	17.24
Usage of interactive teaching method (Seminars, Tutorials Quiz, Etc.)	01	3.44	01	3.44	07	20.00	18	62.06	02	6.89
Frequency of giving references and further reading	02	6.89	-	-	08	27.58	16	55.17	03	10.34
Training and preparing students for examination	01	3.44	01	3.44	06	20.68	16	55.17	05	17.24
			Dr.Y	.M.Pawar (A	Attitude)					
Attitude Towards Students, friendly and Encouraging	-	-	01	3.44	08	27.58	18	62.06	02	6.89
Usefulness in Student counseling : Personal/Career	-	-	-	-	07	20.00	17	58.62	05	17.24
Skills in motivating Students for extra -curricular activities	-	-	01	3.44	08	27.58	15	51.72	05	17.24
Teacher's participation in extracurricular Activities	-	-	-	-	09	31.03	15	51.72	05	17.24
Use of ICT Tools for teaching	-	-	-	-	03	10.34	22	75.86	04	13.79

Use of Google Class	-	-	-	-	08	27.58	17	58.62	04	13.79
Overall Impression as a Teacher	04	13.79	ı	•	03	10.34	08	27.58	14	48.27
Overall Impression as a Person	04	13.79	-	-	03	10.34	05	17.24	17	58.62

**Discussion of finding:** - In **general regarding** the **Marathi department** response obtained from 29 students of the college about **Dr.**Y M Pawar said that his command over language, class control, regularity and punctuality to lectures and skill in explaining the difficult points are very good as the response are positive side.

**Dr.** Y M Pawar expertise in the subject, the responses received from 29 students revealed that, his command over subject, usage of cases studies, resolving students doubt, motivating students to develop further interest in subjects, frequency of giving references, usage of interactive teaching method and providing training and preparing students for examination are very good as the all the statements replied are toward positive side.

**Dr.** Y M Pawar attitude regarding the subject teaching showed that, attitude towards students, friendly and encouraging, usefulness in student counselling, skills in motivating students for extracurricular activities, teacher participation in extracurricular activities, use of ICT tools for teaching, use of google class are very good as the responses are toward positive side. Overall impression as a teacher and as person of **Dr.** Y M Pawar is very good.

The responses received from the 29 students of the Marathi department said that, Dr. Y M Pawar as teacher in the subject expertise and attitude <u>need to be improved as the few responded toward average side of the respectively statements</u>